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o —
ation of the plane passing through the points (1,2,3), (—1,2,0) and perpendicular to the
(7 pts)

(Writféﬁ: Providgmall neééésary steps requlredln thesolutlon)

Q1. (i) Find anequ
plane x + 2y +3z = 1.
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(ii) Fiud the distance between the planes: x—2y + 3z =1land —2x + 4y -6z = 1. (5 pts)
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Q2. Let f(x,y)=In\16- 42" — 7

(i) Find and sketch the domain of /. (3+2 pts)
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(ii) Find the range of f. (2 pts)

. =
@ o < \é«ﬂ\%}—jﬁ\é\b > o < -ty £ A

L = balie -ty oy Wne e
=

S Q- (oo )

(iii) Write an equation of the level curve of f which passes through the point (1,1). (3 pts)
% .f(\y\\ = {1y
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Q3 Find parametric equations of the normal line to the surface ln( il j = x—1 at the point (1,4,3).
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- Q4. The values of z = f(x, y) and its partial derivatives at (2, — 2) are given in the following table:

f2,-2) f:2,-2) 5 2,-2) S (2,=2) Jw 2,-2) S 2,-2)
2 -5 3 4 7 ~3

If x-=#>+s%and y =2rs, then find
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Q5. Find the absolute maximum and absolute minimum of f(x,y) = x(y»* —1) on the region
D={(xy):x’+y <28}
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KEY-Exam II-4 Versions MATH 201

/

MCQ # | MCQ# | Va2 MCQ # V-3 MCQ # V-4

O \ b 1 e 1 | e 1 d
T 2 d 2 c 2 d 2 b |

3 d 3 b 3 e 3 C

4 c 4 d 4 b 4 a

5 S S5 a 5 C 5 C

6 a 6 C 6 C 6 b
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